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fola,y) = 3(2® —day+y°)* (20— 4y) fy(z,y) = 3(2* —4zy+y°)*(—4z+3y°)
THdPro, 2HTIE
dz = 3(2* — day + y*)? (27 — dy)dx + 3(2* — day + y*)*(—4x + 3y*)dy
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f2(1,2) =3 x 12 x (—6) = —18 f,(1,2) =3 x 1> x8=24
THdro, BEFHIE
z=—18r+24y + «
ERTIENTES, IHITH(L, 2, £(1,2) =(1,2,1) 21EZ DT,
1=-18x14+24x24+a =a=-29
TH5H05, EFHOHERNIE 2= —182 +24y — 29 TH 5,

3) 5 2 IREBIE 2,0, 20y, 24y DL 1 D3RO Ko
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Foe(,y) = 6(2® — day + ¢°) (22 — 4y)* + 6(2® — 4oy + y°)?
(: 6(22 — dzy + y*) (522 — 20y + ° + 16y2) )

foy(z,y) = 6(2% — day + y°)(2z — dy) (—da + 3y°) — 12(2® — day + y°)?

(z —12(2® — 4oy + y*) (5% — 3zy* — 120y + Ty°) )

fu(x,y) = 6(952 — 4y + y3)(—43: + 3y2)2 + 18y(9c2 — 4y + y3)2
(: 6(x? — 4zy + v*)(162% + 32%y — 362y* + 12y*) )

ErliE%m
https://www.gen.kanagawa-it.ac.jp/takeda/class/



19FEE WA ELFET—d 1= rmems 2019.10. 8

- MR ERRAE R & AR DO RM D

T =1rcosf

BEEN 2 = 23y° 7% W AL 25 )= rsind U7z & Ei2, AREBDImMS
BRNL U T\ B 0D D K,
2019 FEFEMZNI TRIRS: | FRF | 248 | M ¥ OB R 5 % %
WS F I —d
7 2 [

P 1 K3-3309 5=/ 16 BDHRY 7 A PREMHR : 10OH 9H (OK) #&ERKRE T




